
Problem 1/13/2023 
1. Please provide the structure in the middle and provide the mechanism for the second step.  

(Angew. Chem. Int. Ed. 2020, 59, 1532-1536) 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

2. Please provide the mechanism (J. Am. Chem. Soc. 2021, 143, 10576-10581) 
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1.25 equiv PhMe2SiLi, 1 equiv CuI,
3 equiv DIBAL, HMPA

then 3.8 equiv MeLi, 6 equiv Cl3CCOCl
61% yield

0.7 equiv CuBr, 0.9 equiv L1
1 equiv 2,6-di-tert-butyl-pyridine

L1:

DMF, 70°C
55% yield
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H OH20 mol% Co(acac)2, 2 equiv TMDSO, 
2.2 equiv O2, 4Å MS, iPrOH, 25°C

83% yield


